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Quiz 9 (A)
Question 1. (5 marks) Find the equation of the plane that passes through the points P;(0,2,—1),
P2(3,2,5),andP3(4,—1,2). ’
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Question 2. (2 marks) Find the equations of the line that passes through the point P(2,0,—1) and
is parallel to the vector v = (14, ——335,7). .
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Question 3. (3 marks) Are the plane found in question 1 and the line found in question 2 perpen-
dicular, parallel or neither?

'y\«?: ()%)’51”c\§' C\Ll)”"_'/;.)’:{—st 252 - 135 - 63 =/1#0

NoT eaaAates L

AN — — _ . _ i

G is,-2y= 204,72 2y = 5 =204) = =%
_ - /511("}—5— => (= —-%—_

M PuAaNE A THE crmid Aes 7T L) =y p--n

NoT ez o '
Dot CreaLlll of CrPeed e UL Al P PenO L e an
AY N )

)



